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153 14:09 4“3+ Hh gkl 400M s SR - 3
154 14:09 L3+ 60 ke 400M s ST A HR]A
155 14:09 L3+ 80k 400M s ST A HR]A
156 14:20 L Fe A5 ple pAiR s 44,4
157 14:20 L3 50kl R s E1 4,114
158 14:20 A3 Bh gl R s E1 4,114
159 14:20 L3 60 ke B s E1 4,114
160 14:20 L3 B0kl B s E1 4,114
161 14:20 L3 BH gl pAiR s E1 4,114
162 14:25 ~ 3+ & 30,2 1500M s ST A, HRLA
163 14:25 ~ 3+ 35l 1500M s ST A, HRLA
164 14:25 A3+ 40 gl 1500M s 24, BB24
165 14:25 A3+ 45 gl 1500M s 04, HBEOA
166 14:25 +~+& 50 ke 1500M s 24, BB24
167 14:25 ~ 32 60 &2 1500M s ST A BR1A
168 14:25 A3+ 702 1500M s 24, BB24
169 14:25 §+%2 THhgle  1500M s ST A BR1A
170 14:25 §+%2 80&=  1500M s ST A BR1A
171 14:25 §+%2 8 ke  1500M s ST A BR1A
172 14:25 §+%2 90 &= 1500M s ST A BR1A
173 14:30 §32 45kE HBHCK6) s £ 94,5814
174 14:35 §3& 24%&%x  1500M s L34, HBIHA
175 14:35 §3x2 254%&%x  1500M s 24, HB2HA
176 14:35 §+%2 304&=x  1500M s F1 A HBILA
177 14:35 §+%2 35KkE  1500M s D04, HBEDHHA
178 14:35 §3%2 40%& = 1500M s L84, HBEBA
179 14:40 3 URkE -2k (7. 26K6) A £ 14A,514
180 14:40 32 2BRE -2k (7. 26K6) A £ 14A,514
181 14:40 §rx 0k -2k (7. 26K6) A L4 A, B4
182 14:40 §3%2 3P -3k (7. 26K6) A L TABTA
183 14:45 §3%&2 454%& %=  1500M o ETAHBTA
184 14:45 §3%2 504&=E  1500M o ETAHBTA
185 14:55 §+%2 H5&%x  1500M o L84, HBEBA
186 14:55 §3%2 60f&=  1500M s 24, B2
187 14:55 §3%2 654&%E  1500M s L D04, HBDH A
188 14:55 §3%2 T0&=  1500M s SN/ SRR < 3
189 15:10 S 3l ZESE 400 2% 4 s FoahZ RS
190 15:10 32 H0kE @ s L TABTA
191 15:10 §+2 H0gE 484 (1. 5KG) ¥ £ 84,5814
192 15:10 §F+2 bHhjkE 441, 5KG) g L0 A,B~0H 4



193 15:30 i Fadle 400 223 A7 P R AR L
194 15:40 7+ A0 ke a3R(7.26K6) AR £ 154,84
195 15:50 3% 4HkE P s £10 4,784
196 16:00 A3 35kl H000M HA s ST A HR]A
197 16:00 3+ 60 ke 5000M HA s ST A HR]A
198 16:00 §+2 25f%k=  5000M 4 s ST A HRLA
199 16:00 §+%2 30&k=  5000M A s ST A HRLA
200 16:00 §+%2 35&k=  5000M#A_ s ST A HRLA
201 16:00 §+%2 40&=  5000M #A_ s ST A HRLA
202 16:00 §+%2 45%k=  5000M #A4_ s ETAHRTA
203 16:00 §+%2 5H0&k=  5000M A s LS4 BR4A
204 16:00 §+% bBhkle  5000M 4 s ST A BB1A
205 16:00 §+%2 60&=  5000M A s ST A BB1A
206 16:00 §+% 65&k=  5000M A s 04, HBEOA
207 16:00 §+%2 T0&k=  5000M#4_ s L34, HBIA
208 16:00 §+%2 THhgkle  5000M 4 s 24, BB24
209 16:15 32 80&k=E 1 (4006) s 64,764
210 16:15 §+% 8 Kke U006 s E14A,114
211 16:15 32 90&kE 4006 s 24,214
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212 07:00 43w 40 &= 10000M HF E2AEIB2 A
213 07:00 43w 45 %= 10000M HF ElAHEBLA
214 07:00 43w 50#&%E  10000M HF E2AEIB2 A
215 07:00 43 m 60f&xE  10000M HF ElAHEBLA
216 07:00 732 60f%&x=  10000M HF ETAEBTA
217 07:00 732 65z 10000M A g IR 3
218 07:00 F32 T0#%&2  10000M A g HE3A,EIBEIA
219 07:00 F32 THhikie  10000M A g HE3A,EIBEIA
220 08:00 43w Bh ke 44 (1KG) HF £ 14,8114
221 08:00 L3 60 & 44 (1KG) AR £ 4 A B4R
222 08:00 L3 65k 44 (1KG) AR £ 4 A B4R
223 08:00 L 3w T0f&e 4 (1KG) AR £ QA B2
224 08:00 L 3w THEkle 44 (1KG) AR £ QA B2
225 08:00 F3e 70 &= 4 (5006) AR £ 34,34
226 08:00 F3e THhikE 4 (5006) AR £ 14,8114
227 08:10 32 45 %= 10000M AR ETAEBTA
228 08:10 32 50f%x=  10000M AR E2AEIB2 A
229 08:10 32 55 ke 10000M AR 12 4, EIEB A
230 08:30 §3e 2KkE Zmpd o F X6 A, BB A
231 08:30 §3e 25 KkE Z P o F 14,814
232 08:30 3 30KkE  Zmpd o F £ QA B2 A
233 08:30 93 3BEkE P o F 14,814
234 08:30 g3 50%kE 47 (6KG) HF T A BT A
235 08:30 §32 55%kE &7k (6KG) g ETA BTA
236 08:30 F3 60%k®E &% (6006) o F £ 84, B84
237 08:30 §3 65FkE &% (6006) o F £ 84, B84
238 08:40 L3 25k 8 (KG ) HF 14,814
239 08:40 L 3w 3Hke  #4(1KG) AR S/ -
240 08:40 L 3w 50f&e  484(1KG) HF E 4 A B4R
241 08:40 L 3w 40 Fke 445 (1KG) HF E 4 A B4R
242 08:40 L 3w 45 ke 445 (1KG) HF E 4 A B4R
243 09:00 3 25f%kx  10000M HF ETAERTA
244 09:00 3 30%k=z  10000M HF E3AHERIA
245 09:00 3 35%k=z  10000M HF ETAERTA
246 09:00 3 40 %= 10000M HF £ 8 A, ERS A
247 09:10 F3e A0 KkE  Z P s £ 34 B34
248 09:10 §3e A5 KkE  Z P s £ 54 Bh 4
249 09:10 g3 H50KkE  Zmpid s E QA B2 A



250 09:10 §3E HhRE Zmprg s 24,214
251 09:25 §3e T0kE 4azR(4KG) s 24,214
252 09:25 §3 THhie  4ark(ke) s £ 34,34
253 09:30 S 2kl WEPR s E1 4,114
254 09:30 3 2D/kE FEEIF s 04,54
255 09:30 3 BrE FEFEI s E1 4,114
256 09:30 3 ke HFFP3 s 24,214
257 09:30 3 4okl HFEPI s 24,214
258 09:30 3 S0keE HEPI s 44,4
259 09:30 3% HhjlE HEPIR s E1 4,114
260 09:30 T3 60kE HFEFP3 s £ 34,34
261 09:30 3 GORE HFEPI s £ 34,234
262 09:30 3 B0kE HEPIR s E14A,114
263 09:30 32 60k -3 (5KG) s £ 84,814
264 09:45 §3 80/kE  4ark(3KG) s 64,764
265 09:45 §3 90 kE  4arR(3KG) s £ 34,234
266 09:50 7+ 50 &= 400MHCO. 840M) A% LS4, 8B4
267 09:50 g% 55 ki 400MHCO. 840M) A% 24, BB2
268 09:55 73 24pkx 400MHCO.914M) A% 24, BB2
269 09:55 73+ 25 ki 400MHCO.914M) A% ST A, 8B
270 09:55 7+ 30 &2 400MHCO.914M) A% 1A, &R
271 09:55 7% 3542 400MHCO.914M) A% 1A, &R
272 10:00 7+ 40 & 400MHCO. 914M) A% 1A, &R
273 10:00 7+ 45k 400MHCO.914M) A% 44, BB
274 10:00 32 bR 3% (5KG) s £6 4,564
275 10:00 A3 Rkl ZapriR s £ 14A,514
276 10:00 A3 30 FkE = apri s £ 14A,514
277 10:00 A3 A0k Zapri s £ 14A,514
278 10:00 A% H0fke =z apri s £ 1A, 14
279 10:00 A3 80 FkE = apri s £ 1A, 14
280 10:00 ~ 3 8hEe  Zapri o 1A, 14
281 10:00 §3e B0/kE = mpR o 24,24
282 10:00 §3e BHRE = mpR o 1A, 14
283 10:00 §3E 0/ = mpki s £1 4,814
284 10:10 7% 60 &2 300MHCO.762M) A% ETAHEBT
285 10:15 4+ 50 ke 300MHCO. T62M) - 1A, &R
286 10:15 7% 65f&x  300MHCO.762M) A% L34, HBI
287 10:15 7+ 70 &2 300MHCO.762M) A% 24, HB2
288 10:20 g3 H0/kE  4arR(6KG) s £64,564
289 10:20 g3 bhRkE  4ark(6KG) o L0 A,B~0 4
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290 10:25 &3 T0 & 200MH(O. 686M) k-3 ELA R4
291 10:25 7= T0k= &3k (4KG) I E4 A B4
292 10:25 ¥ ThAkm &3k (4KG) T FRRN SR
293 10:35  +3= 25&Em  200M T ERIENE Y S
294 10:35  +3= 30 &= 200M T 34, BEI N
295 10:35 3 35&m  200M T ERIENE Y S
296 10:35  + 3= 40 &= 200M T 24 B2
297 10:38  +3m 45 &= 200M T 24 B2
298 10:38  +3 = 50 &= 200M T ERIENE Y S
299 10:38  +3 = 55&=  200M T 34, BEI N
300 10:38  +3x 60 &z 200M T ERIENE Y S
301 10:41 3= T0&Z  200M T ERIENEY S
302 10:41 3= T5&Em  200M T ERIENEY S
303 10:41  +3= 80 & 200M T ERR Y S
304 10:41 3= 85 & 200M g ERIENEY S
305 10:44  §3 & 24&m  200M g EE Y K
306 10:45 73 60 k= mprid T 534,534
307 10:45 ¥k 65k = mprid . £B AL, B6 4
308 10:45 ¥ T0kE = mprd . EREN SR
309 10:45 ¥k ThAE =z mprd g 534,53
310 10:47 3% 25%%  200M SRR £ 104,428 R84
311 10:53 3% 30 &%=  200M o TR 3 Y
312 10:56 3 354  200M e ETABETA
313 10:59  §3 & 40 &= 200M o E5 4, BES A
314 11:02 3% 45%%  200M g ETABETA
315 11:05 3% 50 &%=  200M PPEAE £ 04,428 BES L
316 11:05 732 60%x 43k (5KG) o LR SR
317 11:05 73 65kx 43k (5KG) o 564,564
318 11:11 3% 55%%  200M o 64, BEG A
319 11:14 3% 60%&=  200M o TR 3 Y
320 11:17 9§32 654&x  200M T E5 A, BES A
321 11:20  §32 T04&x  200M T TR 3 Y
322 11:23  §3& Thkx  200M T £33, BESA
323 11:23  73= 804z  200M T HO2A BE2A
324 11:23 732 90 &z 200M T E1ABEDA
325 11:30  +3 25%%=  80OM o 214,54
326 11:30 3 30 &%=  80OM o 214,54
327 11:30  +3% 35%%=  80OM o 224,521
328 11:30 3k 40 &%=  80OM o 234,534
329 11:30 3% 45%%=  80OM g £6 4,564



330 11:30 3= 50 &=  80OM T E1 A, B4
331 11:30  +3 & 55%&x  80OM I 1A, B4
332 11:30  +3 & 60 &x=  B0OM T 1A, B4
333 11:35  ¥3& 24&x 800N T FRRN SR
334 11:35  ¥3& 254%&x 800N T FRRN SR
335 11:35  ¥3& 30 &= 800N T 55 AL, B4
33 11:35  ¥3& 35%&x 800N T ETAL BT A
337 11:40 ¥ 3% 40 &= 80OM T £11 4,58 %
338 11:40 73 454%&x 800N T 55 AL, B4
339 11:45 73 50 &x=  B0OM T ETAL BT A
340 11:45  ¥3 & 55%&x  80OM T 5B AL, BB A
341 11:45 73 & 60 &=  B0OM T £ A, B2
342 11:45 952 30 k= 4am(T.26K0) i3 £ A, B2
343 11:45 73 = 35kx  4am(T.26K0) i3 £ A, B2
344 11:45 93 = 40 k= 4as(T.26K0) i3 E4 A B4
345 11:45 95 & 45kx  4as(T.26K0) i3 E4 A B4
346 11:50 73 65&x 800N T E4 A B4
347 11:50 ¥ & 70 &= 80OM T 534,534
348 11:50 ¥ & T5&x  B0OM T £ A, B2
349 11:50 73 & 80 &x  BOOM T £ A, B2
350 11:50 ¥ 90 &= B0OM o TR SR
107 119 12:00 k™ BMRF 12: 30 & £ lp b &

351 13:00 LG AEsm 1600 2 &4 AR X N E AT
352 13:00 43 35 &k 4z (4KG) o CRREN SR
353 13:00 43 40 ke sk (4KG) o 534,531
354 13:00 43 45Kk 4z (4KG) o TR SR
355 13:15 ¥ AEdlm 1600 2 &4 AR R N R
356 13:30 73 24 &k:  3000MHE kR E1A B
357 13:30 3 25 &k 3000MHE kR E1A B
358 13:30 73 354k 3000MHE kR H2ABE2A
359 13:30 3 40 & 3000MHpge kR £33, BESA
360 13:30 73 45 &m 3000M g kR £33, BESA
361 13:30 73 50 &k 3000M g kR £33, BESA
362 13:30 73 554k 3000M Mg kR TR 3 Y
363 13:40 43w 50 &k 4z (3KG) o 234,534
364 13:40 43w 55 &k 4k (3KG) o 224,521
365 13:40 43w 60 &k 4z (3KG) o 234,534
366 13:40 43w 65 &k 4k (3KG) o 214,54
367 13:40 43w T0 &k 4z (3KG) o 214,54
368 13:45 3 35 & 2000M Hege kR HOoA BE2A



369 13:45 §+%2 604z 2000M Fe s L34, BRI
370 13:45 §+% 65z 2000M mrer s E1A#ERLA
371 13:45 §+2 Tkl 2000M e s E1A#ERLA

14:30 PHRAgpL 557 ~ L 252 Lok
BEte mEL A GRRCFF3 T CRFL00 £)
See You again X k9% 6



